mathrm a'N

hrm d lambda
H |_\
AN (o))
o o

hrm d p. mat
T = =
o (0] o N
o o o o

N
o

N
o

mathrm d N / mathrm d pmat

p)

N

Ratio to CMS
[N

0.5

18000 GeV pp Z+Jet
= T 1 | | | | R
~  Groomed widthA_1' (charged only) (CMS jet substructure)

. = cMs

. —©-- Pythia 6.428 390

— - 8- Pythia 6.428 391

| --%-- Pythia 6.428 392

— -+ Pythia 6.428 396

~ -+~ Pythia 6.428 397

~  --¥-- Pythia 6.428 398

Y

=

ot

—

#

Rivet 3.1.10, = 2.2M events

1
0.5

mcplots.cern.ch [arXiv:1306.3436]

N

0.5

groomed width (charged-only)



	Contents
	Page 1


